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jm 72 — TRANSFORMATIONS OF FUNCTIONS REVIE
MATH 3

Part I Questions

1. The quadratic function f(x) has a turning point at (5,-8). If g(x)=
following does g(x) have a turning point?
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2. Where does the absolute value function = -;—lx - 8| +3 have a turning point?
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pts Pg x=-9 and x =3, where does the function
phw caleulator




nts must lie on the graph of

following pol
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6. The range of the function f(x) is ~4<y<10 If g(})=-
for g(x)? -4 'Dl ’7.5.x$'7
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7. If the domain of f(x) is —3<x<9 and the range of f(x) is 2=V Slb, thert WhC
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statements is correct about the domain and range of g(x)=/ (x-2)-8 -2 q
(1) Its domain is ~1< x<11 and its range is 10<y <23\ g 7. Tl
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Free Response

10. For the function f(x) it is known that (—12,4) lies on the function. A second function, g(x), is defined by

the formula g(x)= f(2x)-3.

Based on the fact that th eﬂOI ~12,4) lieson f (x), what point must lie on g(x)?
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11. Describe the transformations that occur to the function y = |x| that produce the function y = |x + 4| —

Give both the transformations that occur.
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+ 5, describe three transformations which would transform the graph of

12. Given the parabola f(x)=—(x- 8)
y =x into the graph of f (x) Give both the transformations and the order.

13. A function g(x) has a domain of _ 3579

P80 (—x) +3 , then what are its domain and range? Explain how you found your answer.




14. The graph of the function f(x) is shown below. The function g(x) is defined by the formula

| Y
g(x)=-21(x) for all values of x.
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Produce the graph of g on the same grid. [ J_T
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Solve the equation f(x)= g(x) for all values of x.

L5, The function f (x) is shown graphed below. If the function g(x) is defined by the formula g(x)=- 2 ifi(x)
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, answer the following questions.

(a) Determine the value of g(5).

o Cg) = =55

(b) Graph g(x) on the same grid.
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